7776

A
A S

CdC 50 microns
_|_

focale 80 mm
distances en
centimetres




y =
v CdC 80 microns =

+

focale 80 mm
distances en
centimeétres




CdC 50 microns
_|_

focale 80 mm
distances en
centimeéetres




0,
oy e
o ©
3 E
Ql_ 4+ - R
(qp EEAN

N0 A\ 7 76

Y R

CdC 80 microns
_|_

focale 80 mm
distances en
centimeéetres




20 2
Q? 3
S
C¥I.~ w
B\
+ o)
o - W
o\
L
> &
> \S’Q)

© /
,2@‘\‘\ 71§<,>

CdC 50 microns

+

focale 80 mm
distances en
centimetres




20 2
Q? 3
S
C¥I.~ w
B\
+ o)
o - W
o\
L
> &
> \S’Q)

CdC 80 microns
_|_

focale 80 mm
distances en
centimetres




